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#######################################################################
Diese Datei dient vor allem dem Herstellen von Klausur-Graphen 
p:=2: eps:=1: 
par:=plot::Implicit2d(y^2=2*p*x-(1-eps^2)*x^2, 
          x=-1..3,y=-3..3,
          LineWidth=1,LineColor=[1,0,0]):
leit:=plot::Implicit2d(x=-p/2, x=-1..2,y=-3..3,
          LineWidth=1,LineColor=[0,1,0]):
sperr1:=plot::Line2d([p/2,0],[p/2,p],
          LineWidth=1,LineColor=[0,0,1]):
sperr2:=plot::Line2d([p/2,-p],[p/2,0],LineStyle=Dashed,
          LineWidth=1,LineColor=[0,0,1]):
abst:=plot::Line2d([-p/2,p],[p/2,p],
          LineWidth=1,LineColor=[0,0,1]):
Ftext:= plot::Text2d("F", [p/2, -0.86],
                  HorizontalAlignment = Center, TextFont=[18]):
plot(par, leit,sperr1,abst, Ftext,Scaling=Constrained);
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p:=2: eps:=1/2: ff:=p/(1+eps);m:=p/(1-eps^2); //m=a
b:=4/sqrt(3);
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elli:=plot::Implicit2d(y^2=2*p*x-(1-eps^2)*x^2, 
          x=-1..m*2,y=-3..3,
          LineWidth=1,LineColor=[1,0,0]):
leit:=plot::Implicit2d(x=-ff/eps, x=-ff/eps..ff*2,y=-3..3,
          LineWidth=1,LineColor=[0,1,0]):
sperr1:=plot::Line2d([ff,0],[ff,p],
          LineWidth=1,LineColor=[0,0,1]):
sperr2:=plot::Line2d([ff,-p],[ff,0],LineStyle=Dashed,
          LineWidth=1,LineColor=[0,0,1]):
abst:=plot::Line2d([-ff/eps,p],[ff,p],
          LineWidth=1,LineColor=[0,0,1]):
Ftext:= plot::Text2d("F", [ff, -0.5],
                  HorizontalAlignment = Center, TextFont=[18]):
plot(elli, leit,sperr1,abst,Ftext, Scaling=Constrained);
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p:=2: eps:=2: ff:=p/(1+eps);m:=p/(1-eps^2);
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hyp:=plot::Implicit2d(y^2=2*p*x-(1-eps^2)*x^2, 
          x=-2.5..1.5,y=-3..3,
          LineWidth=1,LineColor=[1,0,0]):
leit:=plot::Implicit2d(x=-ff/eps, x=-ff/eps..ff*2,y=-3..3,

2



leit:=plot::Implicit2d(x=-ff/eps, x=-ff/eps..ff*2,y=-3..3,
          LineWidth=1,LineColor=[0,1,0]):
sperr1:=plot::Line2d([ff,0],[ff,p],
          LineWidth=1,LineColor=[0,0,1]):
sperr2:=plot::Line2d([ff,-p],[ff,0],LineStyle=Dashed,
          LineWidth=1,LineColor=[0,0,1]):
abst:=plot::Line2d([-ff/eps,p],[ff,p],
          LineWidth=1,LineColor=[0,0,1]):
Ftext:= plot::Text2d("F", [ff, -0.5],
                  HorizontalAlignment = Center, TextFont=[18]):
plot(hyp, leit,sperr1,abst,Ftext, Scaling=Constrained);
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